Coterminal Angles: Angles in Standard Position
that have the same terminal side.

They start and stop in the same spot but aren't the same angle.
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There are an infinite number of degrees that could represent this angle.
More answer could be found by simply adding or subtracting 360° over
and over again to/from one answer and you will find other answers.

1 full turn = 360°

Instead of adding/subtracting 360° again and
again, you could add/subtract multiples of 360°.

2 full turns = 720°

3 full turns = 1080°

4 full turns = 1440°
etc.

Given any angle 0, in degrees, the first coterminal angle is £360°
away from the given angle.
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Is 3110° coterminal with 230°?
Two angles, measured in degrees, are coterminal if....

the distance between them is
a multiple of 360°
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the answer would obviously be NO if what were true?
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Is 3110° coterminal with 230°?
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Find a positive and a negative coterminal angle for each given
angle. Give each answer in radians and in terms of .

Reduce fractions. L A— aAA/SME’f‘f?«c‘(‘
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Given any angle B, in radians, the first coterminal angle is * 2n
away from the given angle.
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Find a positive and a negative coterminal angle for each given
angle. Give each answer in radians and in terms of .
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Is —%—”— coterminal withzg—”?

Two angles, measured in radians, are coterminal if....

the distance between them is
a multiple of 2x
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Are each pair of angles coterminal?

197 & 851

a) -3 13 7 7
ST~ _ Joygr @377’_—*"‘—47/_;7__77
1> 1> S 7

= /37T

=¥ This 15 NOE- el multple
This —(—S N MV\-Q,'\_\AP\Q Og‘ AT =5 -PV\e\[ ave
of Zm  which Weans NOT (otermineg
‘H"QY ARE  Cotermined
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Find the measure of an angle between
0° and 360° that is coterminal to the given angle.
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